





























































































Use the Picard iteration to solveExtant
y 3 yid L I

So Transform the differential eq into an integral ee
joylessas lot 27151 3 ds

t
Ylt Tco 2 fo YCs vs t 3T

YCt 1t2 fotYCs ds t3

Now define the Picard iteration

Yo Tco L

Tnt t L t 2 J Ynis vs t 3T n o

Let's compute a few terms i

t
n o YCt L t fo Yo d t 3T Yo I

T.lt It 2T tst 11,41 1 521
n l Yzlt L t 2 Jot7Cs ds t 3T

I t 2 J 1 55 is t 3T

I t 2 tt 5212 3T

Yzlt 1t5tt5t

n 2 Yslt I t 2 lotYzCs ds t 3T

I t 2 to 1 55 552 Is t 3T

L t 2 t t 5zt2 t 5323 St

Tft L t SE t 522 t tots
































































































Finding the general term
We are solving a Linear eq We know that exponentials are
solutions

I o n
1 t x t XI t ZI t I

Re write 73

73 t I t 5 t t 5 t2 t 5 z t

We need the factorials n on terms with powers th

I multipliedbyZz Iacso multipliedby Zzto make a 2 to create a 3

331T L t 5 t t 5 2 t t 5 22 t

5 is a common factor that is independent of the power
n in th

Y Ct It 5 I t 2tz t 22

The factor 2 increases with n l when E is th
So multiply and divide by 2

Islet I t 5 Z t 2f t 225,7

BCH Lt E Katy 4E t 43

So the general term is

4 Ct It 2 4nt
































































































and the Limit is

T.lt fins Traits It 5z 6h41

Recall that ett o KEIn
I t It 2zt t 13
a E

I 4 e't s

Therefore i Y t I t 52 e t l est t I I

Ylt 5e2t_3z
































































































Example Use
type

Picard
iterationygto go

re

at Y

SI Yogis og to254Yes as
yet Tco Tco L

fyctl s.TL os4Ycsjoc

Y Lt2ftosos n o

11 301 1

YCt L t 2 lots L Is 14 1 2 15 1
Tact L t 2JotS4 i S5 as

I t 2 s t S9 as

Yz I t E t t 2 0

Y L t 2J S I t S5 2 L Slo Is
2

L t 2 Got s t E s t 2 SH vs

b Lt2t5t2 t3 s

Recall ex L f t 2 If t X.IE Finola1 1



































































































